ber 15, 2020 Net Change Order Amoun Current Contract Amoun	Pay Period Start July 1, 2 tion, LLC Pay Period End Novem	act ID 191213-C03 Contractor Capital Paving & Construe		Final Estimate Nu 8
				Approval Date
ed Draft) at the Project Office Level by	d Approved (and should be considered	Generated ar		December 14, 2020
aft) at the Resident Engineer Level by	proved (and should be considered Dr	Reviewed and Ap		January 11, 2021
ntral Office Controllers Office Level by	Reviewed and Approved at the Ce			January 19, 2021
% of Current Contract Amoun	Actual Completion Date	Current Completion Date	oletion Date	Original Comple
100.00%	July 7, 2020	November 1, 2020	1, 2020	November 1
y y y	ed Draft) at the Project Office Level by aft) at the Resident Engineer Level by ntral Office Controllers Office Level by % of Current Contract Am	nd Approved (and should be considered Draft) at the Project Office Level by proved (and should be considered Draft) at the Resident Engineer Level by Reviewed and Approved at the Central Office Controllers Office Level by Actual Completion Date % of Current Contract Amo	Generated and Approved (and should be considered Draft) at the Project Office Level by Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by Reviewed and Approved at the Central Office Controllers Office Level by Current Completion Date % of Current Contract Amo	Generated and Approved (and should be considered Draft) at the Project Office Level by Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by Reviewed and Approved at the Central Office Controllers Office Level by etion Date Current Completion Date 6 of Current Contract Amo

Contract Total Pay For Estimate No. 8 This Estimate To Date Previous 191213-C03 \$70,220.90 (\$109,563.78) \$68,089.71 \$0.00 \$0.00 \$1,985,658.05 \$0.00 \$0.00 \$2,055,878.95 (\$109,563.78) \$68,089.71 Total Posted Items Pay Gross Item Adjustments Incentive \$0.00 \$0.00 Disincentive \$0.00 Liquidated Damage \$0.00 Other Contract Adjustments (\$41,852.52) \$54,777.13 \$12,924.61 \$2,040,435.18 \$2,027,329.49 Contract Total Payable This Estimate: (\$13,105.69)

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J3P3111	0040	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	TONS	\$45.870	0.04	\$1.83
	0050	3107003	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	SQYD	\$34.900	484.3	\$16,902.07
	0060	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$50.200	-0.55	(\$27.61)
	0090	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	TONS	\$61.550	0.02	\$1.23
	0110	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$511.970	1	\$511.97
	0190	6161005	CONSTRUCTION SIGNS	SQFT	\$5.500	327	\$1,798.50
	0210	6161009	FLAG ASSEMBLY	EA	\$20.000	7	\$140.00
	0310	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	LS	\$0.010	1	\$0.01
	0320	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$0.520	0.01	\$0.01
	0330	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	STA	\$12.500	99.71	\$1,246.38
	5001	4079912	MISC.TACK COAT LOW TRACKING OR NON-TRACKING	GAL	\$2.730	768	\$2,096.64
	5002	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	TONS	\$135.400	281	\$38,047.40
	5003	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$3.910	2,430.3	\$9,502.47
vroject J3F	23111 - Tot	al					\$70,220.90

Overall - Total

Contract Adjustments This Estimate

· · · · · · · · · · · · · · · · · · ·					
Adj Type	Entered By	Comments	Time Units	Rate	Amount
SPADIncentive	alkhan1	Line Item #0090, Total installed Qty16,999.52 Tons per Volumetric pay Factor. (QC/QV approved reports)			\$41,852.82
SPADOther Contract Adjustment	alkhan1	Correction: Please see line item 0090, Estimate 0008			(\$41,852.52)
OTHRIncentive	alkhan1	Line item # 0070 (Infrared Scanning) Total Bonus = \$3,689.00			\$3,689.00
ABIRIncentive	alkhan1	Total IRI Bonus = \$22,547.89, Placed on EB and WB Route 50			\$22,547.89
Overall - Total These	amounts are listed in the	Incentive, Disincentive, Liquid	ated Damages or Other	Contract Adjustments	\$26,237.19

\$70,220.90

Final E	Estimat 8	e Number	Contract ID Prime Contractor	191213-C03 Capital Paving	& Construction, LL	C Pay Period End November 15, 2020 Ne	iginal Contrac t Change Ord rrent Contrac	er Amount 🖇	69,810.93
ne Item	Adjust	ments This	<u>Estimate</u>						
Project Number	Line No.	Item	Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustmen amount
J3P3111	0040		MISC.	Other Item Adjustment	Material Discrepancy Payment Adjustment	Final adjustmen	t		(\$74,947.9
	0040		MISC.	MaterialCredit			1,016.96	\$45.87	\$46,647.9
	0040		MISC.	Overrun	Overrun	Adjusting the system overrun \$ amoun	t		\$28,299.9
	0060		NOUS PAVEMENT E PG64-22, (BP-1)	Price		Reference Item Price Adjustment Inde Adjustment Type applied is FUEI		(\$2.52)	\$1.3
	0060		NOUS PAVEMENT E PG64-22, (BP-1)	Other Item Adjustment	Material Discrepancy Payment Adjustment	Adjusting the system material credi	t		(\$262,718.7
	0060		NOUS PAVEMENT E PG64-22, (BP-1)	Other Item Adjustment	Asphalt Cement Price Adjustment	Placed on 6/4, 6/5, 6/6 and 6/8/2020)		(\$4,639.9
	0060		NOUS PAVEMENT E PG64-22, (BP-1)	Other Item Adjustment	Fuel Price	Placed on 5/29/2020)		(\$7,743.4
	0060		NOUS PAVEMENT E PG64-22, (BP-1)	Other Item Adjustment	Fuel Price	Placed on 6/4, 6/5, 6/6 and 6/8/2020)		(\$8,729.2
	0060		NOUS PAVEMENT E PG64-22, (BP-1)	MaterialCredit			4,660.75	\$50.20	\$233,969.6
	0060		NOUS PAVEMENT E PG64-22, (BP-1)	Overrun	Overrun	adjusting the system overrun \$ amoun	t		\$9,775.6
	0060		NOUS PAVEMENT E PG64-22, (BP-1)	Other Item Adjustment		Adjusting the system total Price \$ amount o \$-16,473.15	5		\$16,473.1
	0080		MISC.	Other Item Adjustment	Intelligent Compaction	Intelligent compaction bonus	\$		\$2,549.8
	0090		ALTIC CONCRETE PG 70-22 (SP125C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEI		(\$2.56)	(\$0.0
	0090		ALTIC CONCRETE PG 70-22 (SP125C MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	Placed between 5/18/2020 and 6/1/2020)		(\$15,497.2
	0090		ALTIC CONCRETE PG 70-22 (SP125C MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	Placed between 6/2/2020 and 6/4/2020)		(\$8,313.8
	0090		ALTIC CONCRETE PG 70-22 (SP125C MIX)	Other Item Adjustment	Fuel Price	Placed between 5/18/2020 and 6/1/2020)		(\$48,020.8
	0090		ALTIC CONCRETE PG 70-22 (SP125C MIX)	Other Item Adjustment	Fuel Price	Placed between 6/2/2020 and 6/4/2020)		(\$15,641.1
	0090		ALTIC CONCRETE PG 70-22 (SP125C MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	Adjusting the system ACAD \$ amoun	t		\$15,488.8
	0090		ALTIC CONCRETE PG 70-22 (SP125C MIX)	Other Item Adjustment		Adjusting the system P-Price \$ amoun	t		\$63,659.6
	0090		ALTIC CONCRETE PG 70-22 (SP125C MIX)	Other Item Adjustment	Material Discrepancy Payment Adjustment	Adjusting the NDPA \$ amoun	t		(\$79,148.5
	0120	CONCRET	NG AND PLACING E MATERIAL FOR EPTH PAVEMENT REPAIR	Other Item Adjustment	Material Discrepancy Payment Adjustment	adjusting the MDPA \$ amoun	t		(\$81,098.0
	0120		NG AND PLACING E MATERIAL FOR	MaterialCredit			294.1	\$275.75	\$81,098.0

Final E	Estimat 8	e Number	Contract ID Prime Contractor	191213-C03 Capital Paving	& Construction, L	LC Pay Period End November 15, 2020 Net	ginal Contrac t Change Orde rrent Contrac	er Amount 🖇	69,810.93
Project Number	Line No.	Item	Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
3P3111		FULL D	EPTH PAVEMENT REPAIR						
	0150	REPAI	EPTH PAVEMENT R SAW CUT (FOR PERIMETER AND RNAL SAW CUTS)	Other Item Adjustment	Material Discrepancy Payment Adjustment	Adjusting the MDPA \$ amount	t		(\$1,158.00
	0150	REPAI	EPTH PAVEMENT R SAW CUT (FOR PERIMETER AND RNAL SAW CUTS)	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',3.00000 - 3.00000, 'is applied (if non-zero).		\$3.00	\$1,158.00
	0160	F INSTALLA	L BAR (DRILLING, FURNISHING AND ATION) FOR FULL VEMENT REPAIR	Other Item Adjustment	Material Discrepancy Payment Adjustment	Adjusting the MDPA \$ Amount	t		(\$2,726.50
	0160	F INSTALLA	L BAR (DRILLING, FURNISHING AND ATION) FOR FULL VEMENT REPAIR	MaterialCredit			365	\$6.65	\$2,427.25
	0160	F INSTALLA	L BAR (DRILLING, FURNISHING AND ATION) FOR FULL VEMENT REPAIR	Overrun	Overrun	Adjusting the system \$ amount	t		\$299.25
	0170	BITUM FOR (NG AND PLACING INOUS MATERIAL CLASS C PARTIAL VEMENT REPAIR	Other Item Adjustment	Asphalt Cement Price Adjustment	Placed between 5/6/2020 and 5/8/2020, total of 74.30 Tons			(\$89.16
	0270	PAVE	PREFORMED THERMOPLASTIC EMENT MARKING, T/RIGHT ARROW	Other Item Adjustment	Material Discrepancy Payment Adjustment	Adjusting the system MDPA \$ Amount	t		(\$2,500.00
	0270	PAVE	PREFORMED THERMOPLASTIC EMENT MARKING, T/RIGHT ARROW	MaterialCredit			10	\$250.00	\$2,500.00
	0280	WATERBO	HITE HIGH BUILD DRNE PAVEMENT NG PAINT, TYPE L BEADS	Other Item Adjustment	Material Discrepancy Payment Adjustment	Adjusting the system MDPA \$ Amount	t		(\$13,935.00
	0280	WATERBO	HITE HIGH BUILD DRNE PAVEMENT NG PAINT, TYPE L BEADS	Other Item Adjustment	Retroreflectivity Adjustment	Bonus for 6" white paint	t		\$677.10
	0280	WATERBO	HITE HIGH BUILD DRNE PAVEMENT NG PAINT, TYPE L BEADS	MaterialCredit			69,675	\$0.20	\$13,935.00
	0290	WATERBO	LOW HIGH BUILD DRNE PAVEMENT NG PAINT, TYPE L BEADS	Other Item Adjustment	Material Discrepancy Payment Adjustment	Adjusting the system MDPA \$ Amount	t		(\$9,044.00
	0290	WATERBO	LOW HIGH BUILD DRNE PAVEMENT NG PAINT, TYPE L BEADS	Other Item Adjustment	Retroreflectivity Adjustment	Deduction for 6" yellow paint	t		(\$159.63
	0290	WATERBO	LOW HIGH BUILD DRNE PAVEMENT NG PAINT, TYPE L BEADS	MaterialCredit			45,220	\$0.20	\$9,044.00
	5001		MISC.	Other Item Adjustment	Material Discrepancy Payment Adjustment	Adjusting the system material overrun			(\$49,636.86



Final E	Estimat 8	e Number	Contract ID Prime Contractor	191213-C03 Capital Paving	& Construction, LLC	C Pay Period End November 15, 2020 Net	ginal Contrac Change Ord rent Contrac	er Amount 🖇	1,986,068.00 69,810.93 2,055,878.93
Project Number	Line No.	Item	Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J3P3111	5001		MISC.	MaterialCredit			18,182	\$2.73	\$49,636.86
	5002		ALTIC CONCRETE PG 70-22 (SP125C MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	Placed on 6/4/2020 and 6/5/2020			(\$505.75)
	5002		ALTIC CONCRETE PG 70-22 (SP125C MIX)	Other Item Adjustment	Fuel Price	Placed on 6/4/2020 and 6/5/2020			(\$951.48)
Total									(\$109,563.78)



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	Contract Project Information	n
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J3P3111	FAF 50-2(65)	Coldmill and resurface	50	JOHNSON	from Jackson County line	to CR 1501	
Totals by 、	Job Numb	ers					
J3P3111		ed Item Pay s Item Adjustn		<mark>s Item Pay</mark>	This Estimate \$70,220.90 (\$109,563.78) (\$39,342.88)	Previous \$1,985,658.05 \$0.00 \$1,985,658.05	To Date \$2,055,878.95 (\$109,563.78) \$1,946,315.17
	Liqui	itive centive dated Damage r Contract Adji		5	\$68,089.71 \$0.00 \$0.00 (\$41,852.52)	\$0.00 \$0.00 \$0.00 \$54,777.13	\$68,089.71 \$0.00 \$0.00 \$12,924.61



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Note: Posted Q	uantities		es are b		eport Generated date and can differ from the posted amo	ount at the t	time the Es	timate was (Generat	ed.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-C03	J3P3111	0001	0010	1099901	MISC.ELECTRONIC TICKETING	1.00	0.00	1.00	LS	1.00	\$25,598.25	\$25,598.25
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$7,175.00	\$7,175.00
		0001	0030	2153000	SHAPING SLOPES, CLASS III	8.00	0.00	8.00	100F	8.00	\$950.00	\$7,600.00
		0001	0040	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	500.00	517.00	1,017.00	TONS	1,017.00	\$45.87	\$46,649.79
		0001	0050	3107003	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	180.00	304.30	484.30	SQYD	484.30	\$34.90	\$16,902.07
		0001	0060	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	4,325.20	335.00	4,660.20	TONS	4,660.20	\$50.20	\$233,942.04
		0001	0070	4019901	MISC.INFRARED SCANNING	1.00	0.00	1.00	LS	1.00	\$2,613.29	\$2,613.29
		0001	0080	4019901	MISC.INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	1.00	\$17,795.90	\$17,795.90
		0001	0090	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	17,800.90	-267.70	17,533.20	TONS	17,533.20	\$61.55	\$1,079,168.46
		0001	0100	4071006	TACK COAT - POLYMER MODIFIED	23,060.00	-23,060.00	0.00	GAL	0.00	\$2.41	\$0.00
		0001	0110	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$511.97	\$1,023.94
		0001	0120	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	317.30	-23.20	294.10	SQYD	294.10	\$275.75	\$81,098.08
		0001	0130	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	32.00	-32.00	0.00	SQYD	0.00	\$1.20	\$0.00
		0001	0140	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	32.00	-32.00	0.00	SQYD	0.00	\$1.20	\$0.00
		0001	0150	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	988.00	386.00	1,374.00	LF	1,374.00	\$3.00	\$4,122.00
		0001	0160	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	320.00	45.00	365.00	EA	365.00	\$6.65	\$2,427.25
		0001	0170	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	45.00	29.30	74.30	TONS	74.30	\$188.12	\$13,977.32
		0001	0180	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	406.10	37.30	443.40	SQYD	443.40	\$94.19	\$41,763.85
		0001	0190	6161005	CONSTRUCTION SIGNS	1,025.00	-73.00	952.00	SQFT	952.00	\$5.50	\$5,236.00
		0001	0200	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$60.00	\$240.00
		0001	0210	6161009	FLAG ASSEMBLY	22.00	3.00	25.00	EA	25.00	\$20.00	\$500.00
		0001	0220	6161025	CHANNELIZER (TRIM LINE)	140.00	110.00	250.00	EA	250.00	\$13.00	\$3,250.00
		0001	0230	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$700.00	\$1,400.00
		0001	0240	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,500.00	\$7,000.00
		0001	0250	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$50,278.50	\$50,278.50
		0001	0260	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	600.00	-600.00	0.00	LF	0.00	\$18.00	\$0.00
		0001	0270	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	4.00	6.00	10.00	EA	10.00	\$250.00	\$2,500.00
		0001	0280	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	81,180.00	-11,505.00	69,675.00	LF	69,675.00	\$0.20	\$13,935.00
		0001	0290	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	56,428.00	-11,208.00	45,220.00	LF	45,220.00	\$0.20	\$9,044.00
		0001	0300	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	8,335.00	-8,335.00	0.00	LF	0.00	\$0.30	\$0.00
		0001	0310	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	1.00	\$0.01	\$0.01
		0001	0320	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	226,162.00	-796.00	225,366.00	SQYD	225,366.00	\$0.52	\$117,190.32
		0001	0330	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	881.00	2.00	883.00	STA	883.00	\$12.50	\$11,037.50
		0010	0340	6061060	MGS GUARDRAIL	1,225.00	-1,225.00	0.00	LF	0.00	\$18.50	\$0.00
		0010	0350	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	2,512.00	1,225.00	3,737.00	LF	3,737.00	\$21.00	\$78,477.00
		0010	0360	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$2,575.00	\$10,300.00
		0010	0370	6061080	MGS END ANCHOR	9.00	0.00	9.00	EA	9.00	\$975.00	\$8,775.00
		0010	0375	6061081	MGS BRIDGE APPROACH TRANSITION (THRIE-BEAM BRIDGE)	4.00	0.00	4.00	EA	4.00	\$3,250.00	\$13,000.00
		0010	0380	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	11.00	0.00	11.00	EA	11.00	\$2,575.00	\$28,325.00
		0070	0395	2169903	MISC.REMOVAL OF EXISTING BRIDGE RAIL	50.00	0.00	50.00	LF	50.00	\$35.00	\$1,750.00
		0070	0400	7134000		50.00	0.00	50.00	LF	50.00	\$250.00	\$12,500.00
		0001	5001	4079912	MISC.TACK COAT LOW TRACKING OR NON-TRACKING	0.00	18,950.00	18,950.00	GAL	18,950.00	\$2.73	\$51,733.50
		0001	5002	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	0.00	281.00	281.00	TONS	281.00	\$135.40	\$38,047.40

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-C03	J3P3111	0001	5003	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	0.00	2,430.30	2,430.30	SQYD	2,430.30	\$3.91	\$9,502.47
	Project J	3P3111 - To	otal Value	Posted to D	ate as of Report Generated Date							\$2,055,878.93
191213-C03 Ove	erall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$2,055,878.93



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line lumber	ltem Code		Description	DWR Date	DWR Approval Date	Quantity Posted	Units			Loca	tion	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance		Comments	
0040	3049910	MISC. AGGREGATE F	OR BASE	7/8/20	8/16/20	0.04	TONS	see char	nge order (006								
0050			SHED STONE (B) OR CHAT		8/16/20	484.30				50 HWY								
0060		BIT. PAVEMENT MIXT	TURE PG64-22 (BP-1) TE MIXTURE PG 70-22 (SP125C		8/16/20 8/16/20	-0.55						28.3		33.2		Final installed	quantity	
0030	4030103	MIX)	TE MIXTORE 1 0 70-22 (01 1200		8/31/20	0.02	TONS	Route 50				20.0		33.5				
0100	4071006	TACK COAT - POLYM	IER MODIFIED	8/1/20	8/31/20	0.00	GAL	Route 50	(EB and	WB)		28.1		33.5				
			MOUNTED ATTEN (TMA)		8/16/20	1.00		EB 50										
0130			CTION (6 IN. DEPTH) (PAVEM			0.00) (EB and	,		28.1		33.5				
0140 0190		CONSTRUCTION SIG	GATE FOR BASE (4 IN. TH		8/31/20 8/16/20	0.00	SQYD	Route 50				28.1		33.5				
0210		FLAG ASSEMBLY				7.00		change o		,								
0260	6200015	PREF THERMO PVM	F MARK, 24 IN WHIT	8/1/20	8/31/20	0.00	LF	Route 50	(EB and	WB)		28.1		33.5				
0300			UILD WATERBORNE PAINT		8/31/20	0.00		Route 50				28.1		33.5				
0310 0320		COLDMILLING BIT P	AVT FOR REM OF SURF.		8/31/20 8/16/20	0.01		Route 50 Rounding		WB)		28.1		33.5				
0330		BITUMINOUS SHOUL			8/16/20	99.71		Roundin		quantity		28.2		33.0				
0340	6061060	MGS GUARDRAIL		8/1/20	8/31/20	0.00	LF	Route 50) (EB and	WB)		28.1		33.5				
5001		MISC. NON STANDAR				768.00		50 HWY		/B								
5002	4030103	ASPHALTIC CONCRE MIX)	TE MIXTURE PG 70-22 (SP125C	7/8/20	8/16/20	281.00	TONS	EB & WE	3 50									
5003	6221001	COLDMILLING BIT. P	AVT FOR REM OF SURF.	7/8/20	8/16/20	2,430.30	SQYD	EB and \	NB 50									
			letails for Construction Sig															
oject 3111	Line Numb	er DWR Date March 26, 2020	Total Quantity Posted For DWR			Sign Inform x48 12.00		шит	Station	Log Mile	Location 50 Hwy Eastbound	Num 2.00	ber of Items	SF Ea	ich Sign	Special Sign	SF Each Special Sign	Total SF to
9111	0130	marc11 20, 2020	.50)	KX					28.205								
					G020-5aP PLAQUE)	36x24 6.0	00 WORI	K ZONE		28.205	50 Hwy Eastbound	2.00		6				
				1	NO20-6a RIGHT/CEN	48x48 16.	.00			28.009	50 Hwy Eastbound	2.00		16				
					NO20-5			LUSED		27.707	50 Hwy Eastbound	2.00		16				
				F	RIGHT/CEN	ITER/LEFT	LANE C	LOSED										
				1	NO20-1	48x48 16.0	00			27.209	50 Hwy Eastbound	2.00		16				
					ROAD/BRIE			AHEAD		1								
				F	See Special Sign Details R2-1 36x48 12.00 SPEEI			LIMIT		29.23	50 Hwy Eastbound	2.00		12				
		May 1, 2020	73		KX N4-5(36) 3	eve 0.0	0 MERC	-			East bound 50 Hwy Bridge	1.00		9				
		May 1, 2020	13		NO20-1			-			East Bound 50 Hwy Bruge	2.00		16				
					ROAD/BRIE						-	0.00		10				
				Ē	NO20-6a RIGHT/CEN	48x48 16. ITER/LEFT	LANE C	LOSED			East bound 50 Hwy	2.00		16				
					See Special													
		May 15, 2020	0	F	NO20-1 4 ROAD/BRIE	48x48 16.0)GE/RAMP	WORK /	AHEAD				3.00		16				
		May 18, 2020	248		NO20-1			AHEAD		1.463	NW 1501	1.00		16				
					See Special					0.943	NW 1601 East side	1.00						
					NO20-1					0.331	NW 1801	1.00		16				
				1	NO20-1	48x48 16.0	00			0.235	Nw 1751 East Side	1.00		16				
					ROAD/BRIE			AHEAD		0.229	Route W East side	1.00		16				
					ROAD/BRID			AHEAD		0.229	Noute W East side	1.00		10				
) F	NO20-1 4 ROAD/BRIE	48x48 16.0 GE/RAMP	00 WORK	AHEAD		0.185	Route Z	1.00		16				
				1	NO20-1	48x48 16.0	00			1.487	NW 1601			16		1		
				1	NO20-1 4	48x48 16.0	00			8.939	Route AA East side	1.00		16				
					ROAD/BRIE			AHEAD										
					See Special See Special					4.183 3.599	NW 1501 East side NW 550 East side	1.00						
				1	NO20-1 4	48x48 16.0	00			28.212	EB 50 Hwy	2.00		16				
					ROAD/BRIE			AHEAD		00.040	58.60 lbm	4.00		40				
				F	NO20-1 4 ROAD/BRIE	GE/RAMP	WORK /	AHEAD		28.212	EB 50 Hwy	1.00		16				
					CONST-7-4 WORK ZON		3.00 RAT	EOUR		227.498	WB 50 Hwy	1.00		8				
				ç	G020-5aP PLAQUE)	36x24 6.0	00 WOR	K ZONE		227.785	WB 50 Hwy	1.00		6				
				1	NO20-1	48x48 16.0	00			227.818	WB 50 Hwy	2.00		16				
				F	ROAD/BRID	GE/RAMP	WORK	AHEAD			,							
				F	NO20-1 4 ROAD/BRIE	48x48 16.0 GE/RAMP	WORK	AHEAD		229.491	Powell Gardens	1		16				
				C	CONST-7-4 NORK ZON	8 48x24 8 IE	3.00 RAT	EOUR		27.909	EB 50 Hwy	1.00		8				
				(GO20-1 6	0x24 10.0	00 ROAD	WORK		28.016	EB 50 Hwy	2.00		10				
					NEXT XX M G020-5aP		10 W/OP			28.108	EB 50 Hwy	1		6				
				(PLAQUE)			LONE										
		June 1, 2020	132	N F	NO20-6a RIGHT/CEN	48x48 16. ITER/LEFT	00 LANE C	LOSED		31.747	50 Hwy	1.00		16				
				F	NO20-5 RIGHT/CEN AHEAD	48x48 16.0 ITER/LEFT	DO LANE C	LOSED		31.376	50 Hwy EB	2.00		16				
				1	NO20-1	48x48 16.0	00			30.945	50 Hwy EB	2.00		16				
				F	ROAD/BRID	GE/RAMP	WORK /	AHEAD										



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details for Construction Signs (if applicable).

THE IIIO	mation below		retails for construction signs in	applicable).								
Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
J3P3111	0190	June 1, 2020	132	(PLAQUE)								
				WO4-1R 48x48 16.00 MERGE (SYMBOL FROM RIGHT)		31.747	50 Hwy EB	1.00	16			16
				R2-1 36x48 12.00 SPEED LIMIT XX		31.935	50 Hwy EB	2.00	12			24
	0190 - Total											649



e	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
10	MISC. PERMANENT AGGREGATE EDGE TREATMENT	Material		6	Jun 16, 2020	SYSTEM	(\$51,234.96)	
				7	Jul 1, 2020	SYSTEM	(\$46,647.96)	
			- Total				(\$97,882.92)	
	Material - Total						(\$97,882.92)	
	MISC. PERMANENT AGGREGATE EDGE TREATMENT	MaterialCredit		7	Jul 1, 2020	SYSTEM	\$51,234.96	
				8	Dec 1, 2020	SYSTEM	\$46,647.96	
			- Total				\$97,882.92	
	MaterialCredit - Total						\$97,882.92	
	MISC. PERMANENT AGGREGATE EDGE TREATMENT	Other Item Adjustment	MDPA		Jun 17, 2020	rogera2	\$51,234.96	Reporting material test requirement in progress.
				7	Jul 1, 2020	alkhan1	\$23,712.96	Working with KC Material and QC to report & resolve this item discrepancy.
				8	Nov 23, 2020	alkhan1	(\$74,947.92)	Final adjustment
			MDPA - Tot	ai			\$0.00	
	Other Item Adjustment - Total						\$0.00	
	MISC. PERMANENT AGGREGATE EDGE TREATMENT	Overrun	Overrun	6	Jun 16, 2020 Jun 16,	SYSTEM	(\$28,299.96)	This adjustment effects the original system generated Querrun
				0	2020	STSTEM	\$24,693.66	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment Estimate Exception 6 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	\$3,606.30	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) overridding Payment Estimate Exception 6 on the current Payment Estimate.
				6	Jun 17, 2020	rogera2	(\$28,299.96)	Change order in progress for overrun of Line No. 0040.
				7	Jul 1, 2020	SYSTEM	(\$23,712.96)	Averaged Price Adjustment from this item on all previous paymer estimates of '0.00000' is applied (if non-zero).
				7	Jul 1, 2020	SYSTEM	\$23,712.96	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) overridding Payment Estimate Exception 11 on the current Payment Estimate.
				8	Dec 4, 2020	alkhan1	\$28,299.96	Adjusting the system overrun \$ amount
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0 - 1	Total						\$0.00	
0	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Material		5	Jun 2, 2020		(\$104,539.49)	
				5	Jun 2, 2020	SYSTEM	\$104,539.49	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user martig2 overridding Payment Estimate Exception 1 on the current Payme Estimate.
				6	Jun 16, 2020	SYSTEM	(\$227,607.80)	
				7	Jul 1, 2020	SYSTEM	(\$233,969.65)	
			- Total				(\$461,577.45)	
	Material - Total						(\$461,577.45)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	MaterialCredit		7	Jul 1, 2020	SYSTEM	\$227,607.80	
				8	Dec 1, 2020	SYSTEM	\$233,969.65	
			- Total				\$461,577.45	
	MaterialCredit - Total						\$461,577.45	
	BITUMINOUS PAVEMENT MIXTURE	Other Item	ACAD	5	Jun 2, 2020	RTIG2	(\$2,498.95)	AC Adjustment for 5.29.2020
ľ	PG64-22, (BP-1)	Adjustment		8	Nov 30,	alkhan1	(\$4,639.93)	Placed on 6/4, 6/5, 6/6 and 6/8/2020



	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
0060	BITUMINOUS PAVEMENT MIXTURE	Other Item	Type		Nov 30,	alkhan1	(\$7,743.42)	Placed on 5/29/2020
0000	PG64-22, (BP-1)	Adjustment	TOLL	8	2020 Nov 30,	alkhan1		
					2020	aiknan i	(\$8,729.26)	Placed on 6/4, 6/5, 6/6 and 6/8/2020
			FUEL - Tota				(\$16,472.68)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)		MDPA		Jun 16, 2020	alkhan1	\$227,607.80	Reporting material test requirement in progress
				7	Jul 1, 2020	alkhan1	\$35,110.95	Working with KC Material and QC to report & resolve this item discrepancy.
				8	Nov 30, 2020	alkhan1	(\$262,718.75)	Adjusting the system material credit
			MDPA - Tota	al			\$0.00	
	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)		Р	8	Dec 11, 2020	alkhan1	\$16,473.15	Adjusting the system total Price \$ amount of \$-16,473.15
			P - Total				\$16,473.15	
	Other Item Adjustment - Total						(\$7,138.41)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Overrun	Overrun	6	Jun 16, 2020	SYSTEM	(\$9,775.61)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				6	Jun 16, 2020	SYSTEM	\$4,311.53	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 7 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	\$5,464.08	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) overridding Payment Estimate Exception 7 on the current Payment Estimate.
				6	Jun 17, 2020	rogera2	(\$9,775.61)	Change order in progress for overrun of Line No. 0060.
				7	Jul 1, 2020	SYSTEM	(\$9,743.77)	Averaged Price Adjustment from this item on all previous payment estimates of '-3.53889' is applied (if non-zero).
				7	Jul 1, 2020	SYSTEM	(\$5,932.69)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				7	Jul 1, 2020	SYSTEM	\$5,932.69	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0028) overridding Payment Estimate Exception 12 on the current Payment Estimate.
				7	Jul 1, 2020	SYSTEM	\$9,743.77	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0029) overridding Payment Estimate Exception 12 on the current Payment Estimate.
				8	Dec 4, 2020	alkhan1	\$9,775.61	adjusting the system overrun \$ amount
		Overrun - T	otal			\$0.00		
	Overrun - Total							
							\$0.00	
	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		5	Jun 2, 2020	SYSTEM	\$0.00 (\$7,743.42)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	BITUMINOUS PAVEMENT MIXTURE	Price		5		SYSTEM SYSTEM		FUEL
	BITUMINOUS PAVEMENT MIXTURE	Price			2020 Jun 16,		(\$7,743.42)	FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	BITUMINOUS PAVEMENT MIXTURE	Price		6	2020 Jun 16, 2020 Jul 1,	SYSTEM	(\$7,743.42) (\$8,301.96)	FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	BITUMINOUS PAVEMENT MIXTURE	Price	- Total	6 7	2020 Jun 16, 2020 Jul 1, 2020 Nov 20,	SYSTEM SYSTEM	(\$7,743.42) (\$8,301.96) (\$429.16)	FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is
	BITUMINOUS PAVEMENT MIXTURE	Price	- Total	6 7	2020 Jun 16, 2020 Jul 1, 2020 Nov 20,	SYSTEM SYSTEM	(\$7,743.42) (\$8,301.96) (\$429.16) \$1.39	FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is
060 -	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price	- Total	6 7	2020 Jun 16, 2020 Jul 1, 2020 Nov 20,	SYSTEM SYSTEM	(\$7,743.42) (\$8,301.96) (\$429.16) \$1.39 (\$16,473.15)	FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is
	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1) Price - Total	Price Other Item Adjustment	- Total	6 7 8	2020 Jun 16, 2020 Jul 1, 2020 Nov 20,	SYSTEM SYSTEM	(\$7,743.42) (\$8,301.96) (\$429.16) \$1.39 (\$16,473.15) (\$16,473.15)	FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is
	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1) Price - Total	Other Item		6 7 8 8	2020 Jun 16, 2020 Jul 1, 2020 Nov 20, 2020	SYSTEM SYSTEM SYSTEM	(\$7,743.42) (\$8,301.96) (\$429.16) \$1.39 (\$16,473.15) (\$16,473.15) (\$23,611.56)	FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1) Price - Total Total MISC. INTELLIGENT COMPACTION	Other Item	INTC	6 7 8 8	2020 Jun 16, 2020 Jul 1, 2020 Nov 20, 2020	SYSTEM SYSTEM SYSTEM	(\$7,743.42) (\$8,301.96) (\$429.16) \$1.39 (\$16,473.15) (\$16,473.15) (\$23,611.56) \$2,549.84 \$2,549.84	FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
080	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1) Price - Total Total MISC. INTELLIGENT COMPACTION Other Item Adjustment - Total	Other Item	INTC	6 7 8 8	2020 Jun 16, 2020 Jul 1, 2020 Nov 20, 2020	SYSTEM SYSTEM SYSTEM	(\$7,743.42) (\$8,301.96) (\$429.16) \$1.39 (\$16,473.15) (\$16,473.15) (\$23,611.56) \$2,549.84 \$2,549.84	FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
080	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1) Price - Total Total MISC. INTELLIGENT COMPACTION Other Item Adjustment - Total Total ASPHALTIC CONCRETE MIXTURE	Other Item	INTC	6 7 8 8	2020 Jun 16, 2020 Jul 1, 2020 Nov 20, 2020 Nov 30, 2020	SYSTEM SYSTEM SYSTEM	(\$7,743.42) (\$8,301.96) (\$429.16) \$1.39 (\$16,473.15) (\$16,473.15) (\$23,611.56) \$2,549.84 \$2,549.84	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
0800	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1) Price - Total Total MISC. INTELLIGENT COMPACTION Other Item Adjustment - Total Total	Other Item Adjustment	INTC	6 7 8 8	2020 Jun 16, 2020 Jul 1, 2020 Nov 20, 2020	SYSTEM SYSTEM SYSTEM alkhan1	(\$7,743.42) (\$8,301.96) (\$429.16) \$1.39 (\$16,473.15) (\$16,473.15) (\$23,611.56) \$2,549.84 \$2,549.84 \$2,549.84	FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL



ine	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
090	Material - Total						\$0.00	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Other Item Adjustment	ACAD	5	Jun 2, 2020	RTIG2	(\$1,863.60)	AC Adjustment for 5.18.2020
				5	Jun 2, 2020	RTIG2	(\$2,451.24)	AC Adjustment for 5.19.2020
				5	Jun 2, 2020	RTIG2	(\$3,235.84)	AC Adjustment for 5.20.2020
				5	Jun 2, 2020	RTIG2	(\$1,020.50)	AC Adjustment for 5.21.2020
				5	Jun 2, 2020	RTIG2	(\$1,410.85)	AC Adjustment for 5.27.2020
				5	Jun 2, 2020	RTIG2	(\$2,234.98)	AC Adjustment for 5.30.2020
				5	Jun 2, 2020	RTIG2	(\$3,271.87)	AC Adjustment for 6.1.2020
				8	Nov 30, 2020	alkhan1	(\$15,497.27)	Placed between 5/18/2020 and 6/1/2020
				8	Nov 30, 2020	alkhan1	(\$8,313.86)	Placed between 6/2/2020 and 6/4/2020
				8	Nov 30, 2020	alkhan1	\$15,488.88	Adjusting the system ACAD \$ amount
			ACAD - Tota	al			(\$23,811.13)	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)		FUEL	8	Nov 30, 2020	alkhan1	(\$48,020.88)	Placed between 5/18/2020 and 6/1/2020
				8	Nov 30, 2020	alkhan1	(\$15,641.13)	Placed between 6/2/2020 and 6/4/2020
			FUEL - Tota	d			(\$63,662.01)	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)		MDPA	6	Jun 16, 2020	alkhan1	\$16,909.99	Reporting material test requirement in progress
				7	Jul 1, 2020	alkhan1	\$62,238.52	Working with KC Material and QC to report & resolve this item discrepancy.
				8	Nov 30, 2020	alkhan1	(\$79,148.51)	Adjusting the NDPA \$ amount
			MDPA - Tot	al			\$0.00	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)		Р	8	Nov 30, 2020	alkhan1	\$63,659.68	Adjusting the system P-Price \$ amount
			P - Total				\$63,659.68	
	Other Item Adjustment - Total						(\$23,813.46)	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Price		5	Jun 2, 2020	SYSTEM	(\$47,994.89)	Reference Item Price Adjustment Index Adjustment Type applied FUEL
				6	Jun 16, 2020	SYSTEM	(\$16,090.99)	Reference Item Price Adjustment Index Adjustment Type applied FUEL
				7	Jul 1, 2020	SYSTEM	\$426.25	Reference Item Price Adjustment Index Adjustment Type applied FUEL
				8	Nov 20, 2020	SYSTEM	(\$0.05)	Reference Item Price Adjustment Index Adjustment Type applied FUEL
			- Total				(\$63,659.68)	
	Price - Total						(\$63,659.68)	
90	- Total						(\$87,473.14)	
20	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	Material		5	Jun 2, 2020	SYSTEM	(\$81,098.08)	
	DEPTH PAVEMENT REPAIR			6	Jun 16, 2020	SYSTEM	(\$81,098.08)	
				7	Jul 1, 2020	SYSTEM	(\$81,098.08)	
			- Total				(\$243,294.24)	
	Material - Total						(\$243,294.24)	
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	MaterialCredit		6	Jun 16, 2020	SYSTEM	\$81,098.08	
	DEPTH PAVEMENT REPAIR			7	Jul 1,	SYSTEM	\$81,098.08	
					2020			



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0120	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	MaterialCredit			2020			
		- Total				\$243,294.24		
	MaterialCredit - Total					\$243,294.24		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Other Item Adjustment	MDPA		Jun 2, 2020	RTIG2	\$81,098.08	
				8	Nov 30, 2020	alkhan1	(\$81,098.08)	adjusting the MDPA \$ amount
			MDPA - Tota	al			\$0.00	
	Other Item Adjustment - Total						\$0.00	
0120 -	Total						\$0.00	
0150	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND	Other Item Adjustment	MDPA	7	Jul 1, 2020	alkhan1	\$1,158.00	Working with KC Material and QC to report & resolve this item discrepancy.
	INTERNAL SAW CUTS)			8	Nov 30, 2020	alkhan1	(\$1,158.00)	Adjusting the MDPA \$ amount
			MDPA - Tota	al			\$0.00	
	Other Item Adjustment - Total						\$0.00	
	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND	Overrun	Overrun	5	Jun 2, 2020	SYSTEM	(\$1,158.00)	
	INTERNAL SAW CUTS)			5	Jun 2, 2020	SYSTEM	\$732.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user martig2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				5	Jun 2, 2020	SYSTEM	\$426.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user martig2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$1,158.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				8	Dec 1, 2020	SYSTEM	\$1,158.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',3.00000 - 3.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0150 -	Total						\$0.00	
0160	DOWEL BAR (DRILLING, M FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material		3	May 6, 2020	SYSTEM	(\$119.70)	
				3	May 6, 2020	SYSTEM	\$119.70	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user watsom1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				4	May 15, 2020	SYSTEM	(\$119.70)	
						4	May 19, 2020	SYSTEM
				5	Jun 2, 2020	SYSTEM	(\$2,427.25)	
				5	Jun 2, 2020	SYSTEM	\$2,427.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user martig2 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$2,427.25)	
				7	Jul 1, 2020	SYSTEM	(\$2,427.25)	
			- Total				(\$4,854.50)	
	Material - Total						(\$4,854.50)	
	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION)	MaterialCredit		7	Jul 1, 2020	SYSTEM	\$2,427.25	
	FOR FULL DEPTH PAVEMENT REPAIR			8	Dec 1, 2020	SYSTEM	\$2,427.25	
			- Total				\$4,854.50	



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
160	MaterialCredit - Total						\$4,854.50	
	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION)	Other Item Adjustment	MDPA	6	Jun 16, 2020	alkhan1	\$2,427.25	Reporting material test requirement in progress
	FOR FULL DEPTH PAVEMENT REPAIR			7	Jul 1, 2020	alkhan1	\$299.25	Working with KC Material and QC to report & resolve this item discrepancy.
				8	Nov 30, 2020	alkhan1	(\$2,726.50)	Adjusting the MDPA \$ Amount
		MDPA - Tot	al			\$0.00		
	Other Item Adjustment - Total					\$0.00		
	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION)	Overrun	Overrun	5	Jun 2, 2020	SYSTEM	(\$299.25)	
	FOR FULL DEPTH PAVEMENT REPAIR			5	Jun 2, 2020	SYSTEM	\$299.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) overridding Payment Estimate Exception 9 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$299.25)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				6	Jun 16, 2020	SYSTEM	\$299.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) overridding Payment Estimate Exception 9 on the current Payment Estimate.
				6	Jun 17, 2020	rogera2	(\$299.25)	Change order in progress for overrun of Line No. 0160.
				7	Jul 1, 2020	SYSTEM	(\$299.25)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				7	Jul 1, 2020	SYSTEM	\$299.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0033) overridding Payment Estimate Exception 14 on the current Payment Estimate.
				8	Dec 4, 2020	alkhan1	\$299.25	Adjusting the system \$ amount
	Overrun - Total						\$0.00	
	Overrun - Total						\$0.00	
60 -	Total						\$0.00	
70	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	Other Item Adjustment	ACAD	8	Nov 30, 2020	alkhan1	(\$89.16)	Placed between 5/6/2020 and 5/8/2020, total of 74.30 Tons
			ACAD - Total				(\$89.16)	
	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR		MDPA	4	May 18, 2020	RTIG2	(\$18.30)	5/6/2020 Westbound lane
				4	May 18, 2020	RTIG2	(\$27.67)	5/7/2020 WB Lane 2
				4	May 18, 2020	RTIG2	(\$43.13)	5/8/2020
				7	Jul 1, 2020	alkhan1	\$89.10	Working with KC Material and QC to report & resolve this item discrepancy.
			MDPA - Tot	IDPA - Total			\$0.00	
	Other Item Adjustment - Total						(\$89.16)	
	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH	Overrun	Overrun	4	May 15, 2020	SYSTEM	(\$5,511.92)	
	PAVEMENT REPAIR			4	May 19, 2020	SYSTEM	\$2,868.83	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user martig2 overridding Payment Estimate Exception 4 on the current Paymen Estimate.
				4	May 19, 2020	SYSTEM	\$2,643.09	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user martig2 overridding Payment Estimate Exception 4 on the current Paymen Estimate.
	Overrun - Total						\$0.00	
	Overrun - Total					\$0.00		
70 -	Total						(\$89.16)	
180	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	Overrun	Overrun	4	May 15, 2020	SYSTEM	(\$3,513.29)	
				4	May 19, 2020	SYSTEM	\$3,513.29	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user martig2 overridding Payment Estimate Exception 5 on the current Paymen Estimate.



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0180		Overrun	Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
)180 ·	l · Total						\$0.00	
0220	CHANNELIZER (TRIM LINE)	Overrun	Overrun	3	May 6, 2020	SYSTEM	(\$520.00)	
				4	May 15, 2020	SYSTEM	\$520.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',13.00000 - 13.00000, 'is applied (if non-zero).
				5	Jun 2, 2020	SYSTEM	(\$910.00)	
				5	Jun 2, 2020	SYSTEM	\$910.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user martig2 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$910.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				7	Jul 1, 2020	SYSTEM	\$910.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',13.00000 - 13.00000, 'is applied (if non-zero).
			Overrun - Total				\$0.00	and the second
	Overrun - Total						\$0.00	
02 <u>20</u> ·	l · Total						\$0.00	
0270	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material		7	Jul 1, 2020	SYSTEM	(\$2,500.00)	
		- Total				(\$2,500.00)		
	Material - Total						(\$2,500.00)	
	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	MaterialCredit		8	Dec 1, 2020	SYSTEM	\$2,500.00	
			- Total				\$2,500.00	
	MaterialCredit - Total		Total				\$2,500.00	
		Other Item	MDDA	7	Jul 4	all/han1		Marking with KC Matarial and OC to report 9 reaches this item
	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW		MDPA	8	Jul 1, 2020 Nov 30,	alkhan1 alkhan1	\$2,500.00	Working with KC Material and QC to report & resolve this item discrepancy.
				0	2020	dikildilli	(\$2,500.00)	Adjusting the system MDPA \$ Amount
	MDPA - Total						\$0.00	
	Other Item Adjustment - Total						\$0.00	
	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Overrun	Overrun	7	Jul 1, 2020	SYSTEM	\$1,500.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0037) overridding Payment Estimate Exception 15 on the current Payment Estimate.
				7	Jul 1, 2020	SYSTEM	(\$1,500.00)	
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0270 ·	·Total						\$0.00	
0280	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material		7	Jul 1, 2020	SYSTEM	(\$13,935.00)	
			- Total				(\$13,935.00)	
	Material - Total						(\$13,935.00)	
	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	MaterialCredit		8	Dec 1, 2020	SYSTEM	\$13,935.00	
			- Total				\$13,935.00	
	MaterialCredit - Total						\$13,935.00	
	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS		MDPA	7	Jul 1, 2020	alkhan1	\$13,935.00	Working with KC Material and QC to report & resolve this item discrepancy.
							(\$40,005,00)	Adjusting the system MDDA & Amount
				8	Nov 30, 2020	alkhan1	(\$13,935.00)	Adjusting the system MDPA \$ Amount
			MDPA - Tot			alkhan1	(\$13,935.00) \$0.00	



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
LINC	Description	Туре	Adjustment Type	Number	Date	By	Amount	Normano
0280	WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Other Item Adjustment			2020			
	REFL - Total						\$677.10	
	Other Item Adjustment - Total						\$677.10	
0280 -	Total						\$677.10	
0290	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material		7	Jul 1, 2020	SYSTEM	(\$9,044.00)	
			- Total				(\$9,044.00)	
	Material - Total						(\$9,044.00)	
	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	MaterialCredit		8	Dec 1, 2020	SYSTEM	\$9,044.00	
			- Total				\$9,044.00	
	MaterialCredit - Total						\$9,044.00	
	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Other Item Adjustment	MDPA	7	Jul 1, 2020	alkhan1	\$9,044.00	Working with KC Material and QC to report & resolve this item discrepancy.
				8	Nov 30, 2020	alkhan1	(\$9,044.00)	Adjusting the system MDPA \$ Amount
			MDPA - Tota	al			\$0.00	
	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS		REFL	8	Nov 30, 2020	alkhan1	(\$159.63)	Deduction for 6" yellow paint
			REFL - Tota	ıl			(\$159.63)	
	Other Item Adjustment - Total						(\$159.63)	
0290 -	Total						(\$159.63)	
0350	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Construction Stockpile		1	Apr 2, 2020	SYSTEM	\$31,489.50	Payment Estimate Item Adjustment generated Stockpile Transaction
				2	Apr 17, 2020	SYSTEM	(\$9,585.04)	Payment Estimate Item Adjustment generated Stockpile Transaction
				3	May 6, 2020	SYSTEM	(\$21,904.46)	Payment Estimate Item Adjustment generated Stockpile Transaction
	- Total						\$0.00	
0050	Construction Stockpile - Total						\$0.00	
0350 -		Ormataurtian		4	A	OVOTEM	\$0.00	Der mannt Entimente Itana Adiustana et europeate d'Otableille Transcertion
0360	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Construction Stockpile		1	Apr 2, 2020 Apr 17,	SYSTEM	\$5,924.00	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
				3	2020 May 6,	SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total	-	2020	STOTEM	\$0.00	
	Construction Stockpile - Total		Total				\$0.00	
0360 -	· · ·						\$0.00	
0370	MGS END ANCHOR	Construction Stockpile		1	Apr 2, 2020	SYSTEM	\$2,925.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				2	Apr 17, 2020	SYSTEM	(\$2,925.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	- Total						\$0.00	
	Construction Stockpile - Total						\$0.00	
0370 -	Total						\$0.00	
0380	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		1	Apr 2, 2020	SYSTEM	\$12,875.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				2	Apr 17, 2020	SYSTEM	(\$4,681.82)	Payment Estimate Item Adjustment generated Stockpile Transaction
				3	May 6, 2020	SYSTEM	(\$8,193.18)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0380 -	Total						\$0.00	



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
5001	MISC. TACK COAT LOW TRACKING OR NON-TRACKING	Material		5	Jun 2, 2020	SYSTEM	(\$33,426.12)	
				5	Jun 2, 2020	SYSTEM	\$33,426.12	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user martig2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$49,636.86)	
				7	Jul 1, 2020	SYSTEM	(\$49,636.86)	
			- Total				(\$99,273.72)	
	Material - Total						(\$99,273.72)	
	MISC. TACK COAT LOW TRACKING OR NON-TRACKING	MaterialCredit		7	Jul 1, 2020	SYSTEM	\$49,636.86	
				8	Dec 1, 2020	SYSTEM	\$49,636.86	
			- Total				\$99,273.72	
	MaterialCredit - Total						\$99,273.72	
	MISC. TACK COAT LOW TRACKING OR NON-TRACKING	Other Item Adjustment	MDPA	6	Jun 16, 2020	alkhan1	\$49,636.86	Reporting material test requirement in progress
				8	Nov 30, 2020	alkhan1	(\$49,636.86)	Adjusting the system material overrun
	MDPA - Total						\$0.00	
	Other Item Adjustment - Total						\$0.00	
5001 -	- Total						\$0.00	
5002	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Other Item Adjustment	ACAD	8	Nov 30, 2020	alkhan1	(\$505.75)	Placed on 6/4/2020 and 6/5/2020
			ACAD - Tota	al			(\$505.75)	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)		FUEL	8	Nov 30, 2020	alkhan1	(\$951.48)	Placed on 6/4/2020 and 6/5/2020
			FUEL - Tota	I			(\$951.48)	
	Other Item Adjustment - Total						(\$1,457.23)	
5002 -	- Total						(\$1,457.23)	
-	all - Total						(\$109,563.78)	